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after the drug has been delivered, the delivery system, the cigarette butt or smokeless tobacco

material, depleted of nicotine, remains and must be disposed of. Only the nicotine delivered

by these products achieves its primary intended purpose by chemical action in or on the body.

Specifically, a cigarette is analogous to a metered-dose inhaler, an instrument that
converts a drug into an aerosolizéd form for inhalation and delivery to the lungs for
absorption into the bloodstream. Indeed, a cigarette is not simply tobacco, paper, and a filter.
Itis "a highly engineered product." FDA Docket No. 94P-0069, Response of R.J. Reynolds

Tobacco Company, Appendix D, p. 1 (November 2, 1994). A device is an instrument or

-related article that "does not achieve its primary intended purposes through chemical action

within or on the body of man or other animals and which is not dependent upon being

metabolized for the achievement of its primary intended purposes.” 21 U.S.C. § 321(h).
The primary purpose of parts of the cigarette, each of which is a device or device

component within the Act's meaning, and the cigarette itself, a consciously engineered

instrument, is to effectuate the delivery of a carefully controlled amount of the nicotine to a

_site in the human body where it can be absorbed. The drug, nicotine, is generally contained

within the treated rolled tobacco. The delivery system, the nicotine-containing cigarette, must
be lit to have its intended effect on the structure or function of the body, and, once lit and
used, is discarded. When lit, the cigarette produces nicotine-containing smoke, which is

inhaled by the consumer and when absorbed in the lungs, yields on average approximately 1.0

_mg of nicotine. As the evidence discussed above reveals, cigarettes are drug delivery systems

and, accordingly, are devices within the meaning of the Act.

Smokeless tobacco products function like infusion devices or transdermal patches that
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